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QUESTION 1

Select the two routing configurations that are used to specify routes for outbound loads. (Choose two.) 

A. the Routing Mode on the Carrier UI Screen 

B. the company parameter PACKING_ROUTING_MODE 

C. the Routing Mode on the Wave Template D. the Routing_Mode parameter on the Loading RF Transaction 

Correct Answer: AD 

 

QUESTION 2

You are monitoring the progress of the picking wave and notice that a rush order needs to be picked 

immediately. 

Which two steps should you take to complete the Picking Tasks as soon as possible? (Choose two.) 

A. Select the tasks in the Tasks UI, and confirm the pick in the UI. 

B. Select the tasks in the Tasks UI, select Cancel Task, and re-run the wave. 

C. Manually take the inventory from the location to the shipping area. 

D. Select the tasks and in the Tasks UI, select Change Task Priority to give the task a higher priority. 

E. Select the tasks in the Tasks UI, select Assign user, and let the picker know that he/she is to select the tasks for
immediate pick. 

Correct Answer: AE 

 

 

QUESTION 3

Which five combinations of lot and expiry date are valid scenarios in WMS Cloud? (Choose five.) 

A. Two IB LPNs of the same item have different lots and the same expiry dates. 

B. Two IB LPNs of the same item have the same lot and the same expiry date. 

C. The IB LPNs have an item with the same lot and different expiry dates. 

D. An item is lot-tracked but not expiry-date-tracked. 

E. An item is expiry-date-tracked but not lot-tracked. 

F. Two IB LPNs of the same item have different lots and different expiry dates. 
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Correct Answer: BCDEF 

 

 

QUESTION 4

Your company\\'s count process has two levels: First, at the end of each quarter, the operators will need to get a list of
all the LPN numbers in every location via cycle count. Second, at the end of each month, the operators will do a spot
check for any 100 LPNs and count their content information, and to save time, they will scan each item only once and
enter the total quantity of the item marked on the inner package inside an LPN. Your company has reserve locations
only for storage and you\\'re doing the WMS Cloud configuration for the operators. 

Which two tasks should you complete? (Choose two.) 

A. Create a Cycle Cnt RF screen for the operators to use, and leave the content-count RF parameter blank. 

B. Create a Resv Nbr Cnt RF screen for the operators to use. 

C. Enable the Recount Location Detail cc_trigger. 

D. Create a Cycle Cnt RF screen for the operators to use, and set the content-count RF parameter to By Sku Qty. 

E. Create a Cycle count for LPN deferred/immediate updates RF screen for the operators to use, and set the sku-scan-
mode RF parameter to By Qty Scan. 

Correct Answer: BE 

 

 

QUESTION 5

Which statement is true regarding Replenishment Rules? 

A. Replenishment Rules created at Parent company view can be edited at Child company view. 

B. Replenishment Rules are used for defining Wave Template. 

C. Replenishment Rules are used for Inventory movement between two warehouses. 

D. Replenishment Rules are only editable at the company level in which it was created. 

Correct Answer: B 

 

QUESTION 6

Identify three valid statements related to IB Sorting. (Choose three.) 

A. IB Sorting can be done by Manual and System driven method 

B. IB Sorting is done after Putaway 
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C. IB Sorting will group SKUs with different Putaway type and build in a single pallet 

D. IB Sorting is done before Putaway 

E. IB Sorting is done based on Putaway Priority. 

Correct Answer: ACE 

 

QUESTION 7

Your company has two facilities, one in California, and the other in New Jersey. The California facility needs to
exclusively check the quality of each item on receiving whereas the New Jersey one need to exclusively perform Value-
Added Service (VAS) on each unit during receiving and shipping. Identify the Location Types that are required to be
defined in the Oracle WMS Cloud to receive the items at the California Facility. 

A. Reserve and VAS 

B. Active and VAS 

C. Reserve and QC 

D. Active and Reserve 

Correct Answer: D 

 

QUESTION 8

Item X has product life as 40 days and % Acceptable as 40%. You are doing receiving for your company via RF and
today is Sep. 15th, 2017. The receiving transaction that you use to receive Item X has left the screen parameter allow-
rem-exp-override blank, and has the screen parameter allow- inv-exp-override set to on. Identify two valid facts.
(Choose two.) 

A. When you communicate to the RF that the expiry date of Item X is Sep. 30th, 2017, the system will allow you to
receive it. 

B. When you communicate to the RF that the expiry date of Item X is Oct. 25th, 2017, the system will allow you to
receive it. 

C. When you communicate to the RF that the expiry date of Item X is Oct. 10th, 2017, the system will allow you to
receive it. 

D. Expiry date is the only date value that you can enter via receiving transactions, but it is optional based on the items
configuration. 

E. When you communicate to the RF that the expiry date of Item X is Oct.20th, 2017, and there\\'s an existing inventory
of Item X whose expiry date is Oct.4th, the system will allow to receive it. 

Correct Answer: AD 

 

QUESTION 9
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You want to wave three orders. Two orders had the same route number in the order header, and the other order didn\\'t
have a route number. You want to make sure the orders are assigned to the same load. What should you do or check? 

A. Change company parameter WAVE_ASSIGN_LOAD to One load per wave 

B. Change the Task selection criteria to be configured to assign by load. 

C. Add another route number to the third order. As long as they are waved together, they will be assigned to the same
load. 

D. If they all have the same "Ship to Name" and "Ship to Address 1", they will be assigned to the same load. 

Correct Answer: A 

 

QUESTION 10

Which Inventory screen should you use to configure the Inventory Adjustment Code in Oracle WMS Cloud? 

A. IB LPNs 

B. Reason Codes 

C. Items 

D. Inventory Lock Codes 

Correct Answer: B 

Reference: 

https://docs.oracle.com/cd/E12448_01/rms/pdf/rms_rfm_br/1413/html/ug/ chapter5.htm#CHDBFGEA 

 

QUESTION 11

Consider that in your company you are handling lot number tracking of items. Which two statements are true regarding
lot management? (Choose two.) 

A. Once can allocate the Inventory against the lot number during waving against an Outbound Order. 

B. After performing the Putaway of an IB LPN, which is having the lot number, the lot number will not be transferred to
the Active location. 

C. A received IBLPN can have multiple lot number-tracked SKUs with different lot number inventory at any point of
time. 

D. A batch number in the Batch Management UI has to be always linked to an expiry date. 

Correct Answer: AD  

 

QUESTION 12
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What is the primary purpose of the Wave Template Search Screen? 

A. to identify all outbound loads that have not completed picking yet 

B. to determine how many picking tasks will be waved for picking 

C. to determine which available orders will be waved for picking 

D. to determine the locked locations for inventory allocation 

E. to determine from which part of the warehouse the inventory will be allocated 

Correct Answer: B 

Reference: https://docs.oracle.com/cd/E18727_01/doc.121/e13433/T211976T536591.htm 

 

QUESTION 13

Which three interface validations cause the Advance Shipment Notifications (ASN) to fail when uploading to WMS
Cloud? (Choose three.) 

A. A Purchase Order that is referenced on the ASN doesn\\'t exist in WMS Cloud. 

B. ASN Qty and Purchase Qty do not match in WMS Cloud. 

C. ASN data is past the shipping date. 

D. Purchase Detail line and ASN Detail line do not match in WMS Cloud. 

E. ASN file has invalid data format. 

Correct Answer: BDE 

 

QUESTION 14

Which two packing transactions do not require you to open up an IB LPN (Everything will go in the box)? (Choose two.) 

A. Pick Cart Transaction 

B. Distribution Transaction 

C. PackNC Transaction 

D. PackLPN Transaction 

Correct Answer: AD 

 

 

QUESTION 15
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Identify two scenarios in which the user can select the "Release Pick Info" option in the Wave Inquiry UI to generate the
wave information for MHE systems. (Choose two.) 

A. after wave picking has started for all allocations (alloc_qty>packed_qty, but packed_qty>0) 

B. if all the lines are picked (if allocations packed qty=alloc qty) for all the allocations 

C. after wave picking has started, but some allocations have not been picked yet (allocations having packed_qty=0) 

D. packed_qty not evaluated when sending Wave Pick Info 

E. if picking has not started for the wave 

Correct Answer: AC 
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